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Q-l
(A) Explain the managerial finance functions in detail. 10
(B) Discuss the Profit Maximization function of financial management. 10

OR

Q-l
(A) Describe the factors affecting financial planning?
(B) Discuss the causes & remedies of over-capitalization?

10

10

Q-2
(A) Describe the various Short-term sources of finance. 10
(B) From the following information of ABC Company, calculate the Weighted

average cost of capital Qn book values & market values: 10

15,00,000
7,50,000
2,00,000

Sources of Finance

Equity Share Capital
Long term Debt
Short term Debt

Book Value

10,00,000
8,00,000
2,00,000

OR

Market Value After-tax Cost
%

12
7
4

Q-2
(A) Describe the various Long-term sources of finance.
(B) What is Cost of Capital? Explain its importance.

10

10

Q-3
(A) Explain the various types of capital structure. 10
(B) Determine the EPS of a company which has EBIT of Rs. 1~ 60,000. Its capital

structure consists of the"following securities:
10 % Debentures Rs. 5,00,000
12 % Preference Shares Rs. 1,00,000
Equity Shares of"Rs. 100 each Rs. 4, 00,000
The tax rate is 55%. 10

OR

Q-3
(A) Define capital structure and discuss its characteristics.
(B) Explain the concept of Working Capital and discuss its sources.

10
10
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Q-4
(A) Define leverage and state its importance. 10
(B) PSA Ltd has sales of Rs. 40, 00,000, variable cost is 70% of the sales and fixed

cost is Rs. 8, 00,000. The firm has raised Rs. 20, 00,000 by issue of debentures
at 10%. Calculate operating, financial and combined leverages. 10

OR

Q-4
(A) Define SEBI and explain its functions.
(B) Describe the factors affecting working capital requirement.

10
10

Q-5 Define Capital Budgeting and discuss the types of capital budgeting decisions. 20

OR

Q-5 Calculate Payback Period, Average Rate of Return, Net Present Value @ 10%, &
Profitability Index on the basis of following data:

Particulars
Investment
Salvage Value
EBDT
Year 1
Year 2
Year 3
Year 4
Year 5

25,000
25,000
20,000
20,000
25000

40,000
40,000
40,000
40,000
40000

The present value ofRe. 1 at 10% discount rate is as under:

1
.909

2
.826

3
.751

4
.683

5
.621

The required rate of return is 10%. Tax rate is 50%. Depreciation is charged on
Straight line method. 20
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